
III.

I.

6

7

3490-002A

1982-019

2002-007

2001-065
M8x25 Hlf csavar

M8 Hl anya

10

2001-180
M6x10 Hf csavar

1

155600-052

8400-160
2. Seite

6151-1135

134911-064
Product.: Lang

K2150 Jack C
1. Seite

Belső használatra !

88700-086

M6x16 Df csavar
2001-042

II.

9900-346
3. Seite

117911-766

2001-015

II.

I.

2001-015

5

4

3

5

4

2

IV.

M8 Önzáró anya
5311-313

2002-020

2003-023

14

M8 Fakötéses alátét

IV.

38 1985-001

III.

2001-017
M5x8 Sf csavar

2001-015
M5x6 Bkny hernyócsavar

5025-003A12

6536-002A

5131-001B

M5x6 Hernyócsavar

5135-085A

5135-085A

M5x6 Hernyócsavar

5131-001B

6536-001A



Product.: Lang

K2150 Jack C
2. Seite

Belső használatra !

20

19

1982-001

1982-011

245311-312B

191982-011

23 6611-168

215540-130

22 6611-004A

2002-003

2003-003
M5 Alátét

M5 Hl anya

2003-020

2001-042

M6 Íves rugós alátét

M6x16 Df csavar

2001-015
 M5x6 Bkny
hernyócsavar

175611-049

M8 Hl anya
2002-007

165611-048

20 1982-001

20 1982-001

M6 Alátét
2003-005

M6 Hl anya
2002-005

M8 Rugós alátét
2003-010

255833-023A

185633-029B
2001-020

M5x12 Hlf csavar

20 1982-001



Product.: Lang

K2150 Jack C
3. Seite

Belső használatra !

1. 12.
Reihenfolge:

Lage des Feuerablenkrahmen

35

34

31

29

31
6081-194

6081-194

336081-383

6081-195

32

6081-382

6081-192A

28

27

4.

7.

3. 6081-384

6081-195

6081-191A 26

30

30

5.

1.

10.

8.

9.

2.

11.

6.12.

5490-021

4711-056

Feuerraumauskleidung
(9900-346)

6081-191A         1 Stück
6081-192A         1 Stück
6081-382            1 Stück
6081-383            1 Stück
6081-384            1 Stück
6081-194            2 Stück
6081-195           2 Stück
6081-196           1 Stück

6081-196



Product.: Lang

K2150 Jack C
4. Seite

Belső használatra !

1982-019

M8 Hl anya

M8x16 Hlf csavar
2001-062

2002-007

37

3490-002A6

M8x25 Hlf csavar
2001-065

1982-0197

364111-001

M8 Hl anya
2002-007

94111-057


